' GROUP 4 HYDRAULIC SYSTEM

1. HYDRAULIC COMPONENTS MOUNTING 1

Air breather ——

Terminal

— Hydraulic tank

Swing motor— o

Solenoid
Main pump 6 ~ - valve
Lo e
. ——Mcv
VIEW A
10 Main pump
housing

1609S9CM05

-Tightening torque

ltem Size kgf-m Ibf-ft ltem Size kgf-m Ibof-ft
1 M6x1.0 1.0510.2 767145 8 M12x1.75 | 122113 88.21794
2 M6Xx1.0 1441703 104122 9 M12Xx1.75 | 147122 106+15.9
3 M 8x1.25 251705 18.11£3.6 10 M16x2.0 2211.0 159+7.2
4 M8x1.25 | 4.05*0.8 29.37538 11 M16x2.0 29.7t45 215325
5 M10Xx1.5 6.070.3 43.4%10.8 12 M20x2.5 46*5.1 333136.9
6 M10Xx1.5 691714 49.9+10.1 13 M20x2.5 579187 4191629
7 M10%1.5 8.271T1.7 59.8+712.3 - - -

9-6




2. HYDRAULIC COMPONENTS MOUNTING 2

6@M

Breaker
solenoid valve

Breaker pedal

Rubber

Adjust boom
pedal

6@/

Boom safety lock system

Turning joint

Solenoid valve

Check valve

Boom priority

solenoid
Safety solenoid
Power max solenoid
Travel speed solenoid
N

Travel motor(RH)

Travel motor(LH)

Arm safety lock system

(s <
Arm safety
Boom safety lock system S
lock valve ° By
8
Arm cylinder
Boom cylinder N
1609SBACMO6
-Tightening torque
ltem Size kgfm Ibf-ft ltem Size kgfm [bf-ft
1 M8x1.25 | 3.43%07 24.8*5.1 5 M14X2.0 19.61+2.9 142+21.0
2 M10Xx1.5 69+t14 49.910.1 6 M16x2.0 23.0*25 166-18.1
3 M10x1.5 827+1.7 | 59.8T123 7 - 40108 28.95.8
4 M12x1.75 | 12.3+1.3 88.9194 - - - -

9-7




3. HYDRAULIC COMPONENTS MOUNTING 3

BOOM CYLINDER

BUCKET CYLINDER

-Tightening torque

ltem Size kgf-m Ibf-ft

1 M 8x1.25 27703 19.5+2.2

M10Xx1.5 3203 23122

M10Xx1.5 54*05 39.13.6

ARM CYLINDER

DOZER BLADE CYLINDER

1609S9CM07

[tem Size kgf-m Iof-ft
4 M12x1.75 9.371.9 67.31£13.7
M14x2.0 15+2.0 108*£14.5
M16%2.0 231+2.0 166*-14.5

9-8




